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Name Date Hour A mother and a father goldfish have the following traits.
. . Father — Heterozygous for bath a long dorsal fin and large mouth
Dihybrid Oﬂomw Worksheet A Mother — Short dorsal fin and a small mouth
Both of the mother's traits are the recessive traits.

Complete the foliowing dihybrid cross and answer the questions below.

Key: D~ Cross:
Key: T~Tall Cross: TIRr x {RR . d - ,
t — Short M-
R — Raound Face m-—
r— Square Face
If the above parents had a kid, give the probability that the kid will have the If the mother and father had 64 children, how many of the children should have
following traits: each of the following traits:
“Tall with a round face: L Long.dorsal fin with a large mouth:
Tall with a square face: Long dorsal fin with a smail mouth:
Short with a round face: ‘ Short dorsal fin with a [arge mouth:
Short with a square face: Short darsal fin with a small mouth:

What is the most common genotype? What is the most common phenotype of the offspring?



